W=1200L4 T W=1200LLF W=1200LL T 100~270
20
kv FL—IL(AL) o
DP11540 =)
115 by TL—ILEIHAL. i it TS
72.5 425 NOTUS9712 | _8
2| PBFAZYE LI E R (SUS) 8l %
, M4 X 20 | ¥
- | ¥ ¥
3 I—N\—ER{F#(AL) w * 0| g
) ‘ X| T| %
= 8 SL2023 | o 8 EE *
d IS5k JL—A—(AL) % _2 e
o FL2090B =
S L | S
n JL—/\—%Z(F(AL) i S
o TiT T i m;
FL2090A S — | E— O ﬁ,l,SLi
8 FSR/1MaL(SUS) 7 LI ARAL ﬁ Z i‘%
4 M4 x 8 (P <350) SKN— * * % I HEX 5
FAE(AL) a4 MAL) 70 40
S5545 SKN % * % JA \ HIREEAR(AL)
4.0 Ry k(AL . X N == 65 X 55/t=2.0mm
9 40YAYHAL) SaqURILE—(AL \ 49 =
% No52 SKN#* % *JHA 50\ | 1 B XH (AU
L1 ek K%»J‘ S o Y S5545
£ x sojfll L _lbeldl ] g RIS —(AL)
SaAq: — i \ ﬁ
£ i g SaqvbhN—AL Al Lr)il SKN * * % HA
¥ m oo SKN * * * JCA zgz‘
H+ S
FILEVAL T H—(AL) 100 £ 100 l
TS400A-(80.100.120) RL=4000LLF |[10 & AKL=4000LLF
o FRBYE AL (P-SUS) B Mo 75 I HAL)
o oSS ~ XN ~T7 = W, 8
ISI’ ! M4 X 25 EARDAT MR EEFEE FNARILRSUS)/M6 x 20
& ! FRAyERL (P-SUS) TILEYALU T h— (AL TILEEE AR (AL) TILEYALU T H—(AL) BYEISTUNAL
= - M4 X 25 TS400A-(80.100.120) SKN— * % % TS400A-(80.100.120) K72EWHA
¥ rS RN (SUS) XHEAL) FyTL—IL(AL) XA IR vy TR
o M4 x 8 (P=350) S5545 DP11540 S5545 \ DP11540ECP2-L/R
= el PR 7 o h—(SUS)
o L= &Y - A0 x o \EO SGA-M8.~M8 x 35
————— /A | ST Y S — P SRV W Y
= Bk T “ I c VIR S EZ | ERTURF vy T (AL
s M| /T psssere = — — —8i —o— —— | — - — Bl i s K — — — — — -8 = I
o PS55EPG ST P9 & =L _w. ST #8497 4 S - QT SKN * % * WMCA—R./L
'Z\ o FILIEAAL I AN o _x I LR o I Il M =
& 2] e — 3 A N T — —23f - fos A 23H“’- —LN
*Tm o / { SKN— % * % - g
wSL| * ‘ -3 - R | .
RSB N ©] EARRLT— (AL J—A—ER (AL $A0YRYMAL  FFRINFT (SUS) I5yhIL—13—(AL) BRYELS LY
SKIN* * x HA SL2023 No.52 M4 x 8 (P<350) FL2090AB (FHKIT=E)
S L e L—A—Sa B $ 4.0 R k(AL — 73— {H AL L—R—TURFry TG
S i S8R40/MS5 X 50 2.0mm No.52 30 SL2023 FL2090BECP
S ) " HRIRERAL JL—N— L3tiE 2 JL—\— L3tiE 2 JL—i\— L3tk 20
® R I\ 65 X 55/t=2.0mm
= BERTVH— W=1200LLF W=1200LLF W=1200LLF 100~270
M12& R DKL (SUS) )
5I%$IE . 5[3171“11180ﬂilﬁli80mm7973—li1ﬁﬁﬁ Z:E.‘-o Xii%r? ) f*if‘y?"(i7kz|zﬁ§§§§(:3:U,EUUi?'o X@i?#ji'b"yl“li?]'j“\/ﬂ‘/f‘j—o
STIE W7 X TR
A — % £ A # IH4 — D . S = & i3r4= B ®E
VAN | &t il — — A% &
A — 7% | | =9 ﬁic:*i#/ b=l By | @\ | k@ |TEAE
ﬁ = 2 & A & 2 FLEERE N i R (A3)=1/8,1/25
yAN — B i ‘ ‘ 759hT 54V KL—)L/SL-FB-DP11540-KT
.

% B :2006.12.07 RE B : 2010.6.22

DQOPPOPOPDOOD

E-033



